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Part | : watch the video about the story of Jake. Then decide if the sentences are

true (T) or false(F).

a.

Jake accidentally used aftershave after he had brushed his teeth.

b. When Jake wento to get dressed, he realized he had left his best shirt in

o a 0

]

the washer.

By the time Jake went to the dryer, the shirt had already shrunk.

It was the third time Jake had worn his shirt inside out.

Ann didn’t see Jake because she had waited at a different taqueria,

Jake and Anne had seen the same movies when they were teenagers.

g. Jake and Anne had played the same sport when they were younger.

h.

Ann leaned to reach for Jake's key that had started to slip out his jacket.

Part II; Match the first part of the sentence on the left with the correct ending on

the right.

Betty's plants died because.... a) she had lost her doll.

Bob couldn’t buy the new computer because.... b) she had left her purse at home.
Sammy couldn't fall asleep last night because... c) he had already left the office.

The little gifl was crying because,.. d) he hadn't studied at all.

| didn't have to buy groceries because... e| he had spent all his money.

Kevin failed his exam because... f) she had forgotten to set the alarm.
Monty bought a new camera because.... g) she hadn't watered them.
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8. Clara couldn't pay for lunch because... h) he had watched a scary movie.

9. Susanslept late because... i} I'had gone shopping the day
before.
10. | couldn't speak fo the boss because... i} he had lost his old one.
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